F8E KEZMETIL - mEBHETI

8.1 KEZEMETI — EEREHK
5% 2 OIRREZEMIE 7L (10.1)(10.2) DANES f(t) EHNEB y(t) DF 77 ALk 202N F(s),Y (s) £ B,
F(s)=L[f(t)], Y(s)=L[y(t)] (8.1)

REEZEB (1) DT 75 AEHNET, RT MV a(t) DBEFZED T T I AEHZRT LT 2RI A XD Pre L
TERTDLIELHNTE S,

X(s) = L[z(t)] (8.2)
BEBO T 77 AEORNAD 5 .
LI (0] = sX(s) = (0) (8.3)
Thbd, % (10.1)(10.2) ISHHT 5 &
sX(s) —x(0) = AX(s) + BF(s), Y(s)=CX(s) (8.4)
Liah, TheHIES Y (s) oW T#E &
Y(s) = CO(sI — A)'x(0) + C(sI — A)"'BF(s) (8.5)
D, REBBIILATD XS5 ITKE %,
G(s)=C(sI-A)'B (8.6)
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